homework.notebook August 02, 2012

1) Exponents and roots
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1) Exponents and roots (cont)
G) [-1-b = -2a
Which of the following statements could be true?

I.b>0
IT.b=0
IIT.b<O0
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1) (even more) Exponents and roots

) g =f,-2 x=7

\T) # 0 and ;&.‘-‘-8 Fsn qhil‘?

) 741 x-10=

Jul 17-2:28 PM
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1) (Wow! still more) Exponents and roots
7 & 3 l
L) ( ’) = et s 3x= 7

M) £ )= X 'l‘\\m vhen X=73
($0d) = 7

Jul 17-2:31 PM
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2) simplifying roots

p) (7% - 9 5 -
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3) Right Triangles
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4) functions
A) f(x)=3x°+2x-6
f(2)= f(-2)=

B) f(x)=x/(2+x?)
£(2)= f(-2)=

Jul 17-9:44 AM
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5) More Functions i
- *
A) for any a>b, on what \ /—70
intervals must f(a)>f(b)? N N
“ -3 L =] 4 | T 3 °
B) f(2)- C) f(-2)=

D) f(0) = E) f(x)=0 x=

Jul 17-9:47 AM
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5F) same graph for f(x)
if g(x) = f(2x+1) find g(1)

Jul 17-1:09 PM
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6) Factoring

a) (a° - b?) =

b) (16 - x?) =

c) (y* - 49) =

d) (4x° - 9y?) =
e) (x° + 4y°) =
f) (x% +7x + 10)=
g) (x° -9x + 18)=
h) (x° - x - 12)=

Jul 17-2:52 PM
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